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4. #7478 ABC o4 AB = Scm 4/Fem.
BC = 4V3cm 4 W, /B ¢] 3719 - T

D 15° @ 30° ® 45°
@ 60° ® 75°




The F0l EE B x4y o e FoIH?

2te sin cos ‘ tan

14° 0.2419 0.9703 0.2493
15° 0.2588 0.,9859 0.2679
16° 0,2766 0,9613 0,2867

sin x = 0.2766 , tany = 0.2493

@ 28° @ 29° 3 30° @ 31° ® 32°
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10. ©h& 2ol A AABC ©f HolE 78}

A
49°
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B~< P
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T sin © cos tan z
49° 0.66 0,74 0.90
43° 0.68 0.73 0.93
44° 0.69 0,72 0,97

@ 33cm? @ 37cm? ® 45cm?

@ 72 cm?2 B 90 cm?2
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@ 0.3179 3 0.6821
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@ sin45° = cos45°
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B sin56° < cos 56 °
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26. o5 193 22 AZ47Ee ABC o|4 DELBC, FGLBC ¢ o,

sin x — cosy 2] #F2?




27. o2 "I 42 AABC 9 9HY O 9|4 /BOC = 120°, zOBC =46
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cosf x cos A + sinf x sin A 2] g9

AV NV
@? @ V3 @?4’1
@?—1 ® V3+1



28.

cm



29.

O 183} Zo] 0131 aABC °fl Hist
of ¥ BC 9] 74 9ol 2BC = CA; ©]
Hes H A EHY T2 HHoR H
By, C; & Aol aAABC; 2 WHEITH
AABC 9] Ylo]7 4 & o, AAB,C; &

Hole?

B,



30. o5 174 AABC 2 AACD 9] Ho]e] Z=7?
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